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= Year 9/10               = GEOMETRY               = Worksheet 3
	[image: image1.png]1. A circle (radius 1 cm) is inscribed in a rhombus (side 3 cm). Find the exact 
value of x.

                                                                             
                                                                      x cm


	2. Determine the ratio p : q, given that arc AB = arc BC.

                                                        p

                                            A                        q

                                                      4

                                                            6
                                                    B                C

	3. Given that AB is parallel to DC, find (.
O is the centre of the circle.                                             B

                                                              O   60(                     C
                                        A                       ( (
                                              D
	4. Points A and B are the centres of the circles. AP and BQ are tangents. Show that points P and Q are on the circle with diameter AB.                    P
                                                     Q

                                                 B              A


	5. Show that PQ is a diameter of the circle, given that 
(PQR = (PSR = 2((QPR.
                                                                    P                             S
                                                                                     R

                                                             Q
	6. Determine  (PQR, given that PR is a tangent to the two
circles in contact at point Q.

                                                 Q
                                    P
                                                          R


	7. Determine the radius of the inscribed circle of the right-angle triangle.

                              3 cm                          5 cm


	8. Determine the radius of the larger circle, given that the radius of the smaller circle is 4 cm and
AB = 25 cm.

                                                         90(
                                                          A
                                                                                             90(                     
                                                                                        B

	9. Determine the radius of the circle, given that points A and B are the centres of the semi-circles of the same radius 8 cm.


                                             A                   B

	10. The circle has a diameter of 16 cm. Find x cm, where x is an integer ( 12.
                                                                                  12
                                                                  7
                                                                  x         4                                                          

	11. The larger semi-circle has a radius of 6 cm. Find the radius of the smaller semi-circle. 



	Numerical, algebraic and worded answers.



1.  (3 + (5)/2


2.  2 : 3


3.  30


6.  90(


7.  1 cm


8.  9 cm


9.  3 cm


10.  6


11.  4 cm
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